ACCOUNTING I

Chapter 2

Analyzing Transactions into Debit and Credit Parts

*Accounting equation can be represented as a T

-All values of things owned (ASSETS) are on the left

-All values of all equities or claims against assets (LIAB. & O.E.) on the right

*Both sides MUST equal!!!

Lesson 2-1 Using T Accounts
*An account is a recorded summary of all information pertaining to a single item in the accounting equation

*Transactions change the balance of the Accounting Equation

*An accounting device used to analyze transactions is called a T Account.

*Specific names are used for the amount recorded on the RIGHT and LEFT


DEBIT (Dr.) is on the LEFT


CREDIT (Cr.) is on the RIGHT

*The side of the account that is INCREASED is called the Normal Balance
*ASSETS
-All asset accounts have a normal balance in the DEBIT side of the T account

-This is associated with the LEFT side of the equation

*LIABILITES & OWNER’S EQUITY

-All liabilities and Owner’s Equity accounts have a normal balance in the CREDIT side of the T account


-This is associated with the RIGHT side of the equation

REMEMBER THE NORMAL BALANCE IS THE SIDE THAT INCREASES.
Chapter 2 (Continued)

INCREASES AND DECREASES IN THE ACCOUNTS

*The sides of the T Account are used to show an increase and decrease in account balances

*Two basic accounting rules that regulate increases & decreases of acct. bal.

1. Acct. balances increase on normal bal. side of the T account

2. Acct. balances decrease on the opposite side of the normal balance

AGAIN, THE NORMAL SIDE OF THE ACCOUNT IS THE SIDE THAT INCREASES WHETHER IT IS THE DEBIT SIDE OR THE CREDIT SIDE!!!!
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Lesson 2-2

Analyzing How Transactions Affect Accounts

*Recv’d cash from owner as investment


-First we must determine which two accts. are going to change & how


-A list of accts. used by a business is called a Chart of Accounts (pg 3)

*There are 4 questions that are used in analyzing a transaction into its Debit and Credit parts.

1. Which accounts are affected?

2. How is each account classified?

3. How is each classification changed?

4. How is each amount entered in the accounts?

*Just like the accounting equation, left must equal right, the debits must equal the credits
*Asset account CASH is increased, the debit side goes up, and the O.E. account CAPITAL is increased, the credit side goes up

*Paid cash for supplies

-2 asset accounts are changed


-Supplies increase, on debit side of T account


-Cash decreases, on credit side of T account

*Paid cash for insurance

-Prepaid insurance increases, on debit side of T account


-Cash decreases, on credit side of T account

*Bought supplies on account

-Supplies increase, on debit side of T account


-Accounts Payable increases, on credit side of T account

*Paid cash on account

-Cash decreases, on credit side of T account


-Accounts Payable decreases, on debit side of T account
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Lesson 2-3

Analyzing How Transactions Affect O.E. Accounts

*Recv’d cash from sales

-Cash is an asset, increase cash/Dr.


-O.E. increases, you now have revenue due to a sale

-Sales, which is considered an O.E. account, increases/Cr., this account is used instead of O.E. because it avoids having a very lengthy O.E. account, revenues are broken up into smaller accounts

*Sold services on account (haven’t recv’d cash yet)


-Accounts Receivable increases/Dr.

-Sales increases/Cr., instead of going under O.E. as a rev. it will go into the smaller acct. of sale; it still shows and increases in rev.

*Paid cash for an expense

-Rent is an expense every business pays unless they own the building

-Expenses decrease O.E.; Rent also has a separate account instead of going under O.E.


-Rent has a normal balance on the debit side, this is an increase in expenses, you will increase Rent Expense


-Cash is decreased

**It may look like the Left side of the equation is decreased yet the Right side isn’t.  But O.E. is being decreased by an expense, even if the expense account has increased.

*Recv’d cash on account

-Cash increases/Dr.


-A/R is decreased/Cr., this incr. and decr. is ok, it on one side of equa.

*Paid cash to owner for personal use

-Cash decreases/Cr.


-Drawing account is increased/Dr., yet the O.E. has been decreased
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